06275_MFG fR#IFRHE K wEEFW

7= miiEA

M

BHEFRE,

FE , MEER PF31-DIN 7708 , B , MiZfo R4NE , K4
B,

I
2 R ARBURLES,
REZXSEHLE,

REFEK :
ANAER,

TEEFHR

@9 SE R
L1

L3
06275-21080X10 EL 80 10H7 26 | 16 | 31 - - 218 x M6 x 40
06275-21080X12 EA 80 12H7 26 | 16 | 31 - - 218 x M6 x 40
06275-21100X10 EAL 100 10H7 31 |17 | 34| - - 218 x M6 x 40
06275-21100X12 EML 100 12H7 31 |17 | 34| - - 218 x M6 x 40
06275-21125X12 EAL 125 12H7 30 |18 |37 | - - 221 x M8 x 50
06275-21125X14 EL 125 14H7 30 | 18 | 37| - - 221 x M8 x 50
06275-21140X14 EA 140 14H7 34 119 |34 | - - 221 x M8 x 50
06275-21140X15 EAL 140 15H7 34 119 |34 | - - 221 x M8 x 50
06275-21160X15 EMTL 160 15H7 40 | 20 | 40 | - - 226 x M10 x 80
06275-21160X16 EAL 160 16H7 40 |20 | 40| - - 226 x M10 x 80
06275-21200X18 EMAL 200 18H7 50 | 24 | 46 | - - 226 x M10 x 80
06275-21200X20 EA 200 20H7 50 | 24 | 46| - - 226 x M10 x 80
06275-21250X22 EAL 250 22H7 50 | 28 | 49| - - 228 x M12 x 90
06275-21250X24 EMTL 250 24H7 50 | 28 | 49 | - - 228 x M12 x 90
06275-31080X10 IR EM A 80 10H7 26 |16 [ 31| 3 1,4 218 x M6 x 40
06275-31080X12 IR EMAL 80 12H7 26 |16 | 31| 4 13,8 218 x M6 x 40
06275-31100X10 IR EM A 100 10H7 31 |17 | 34| 3 11,4 218 x M6 x 40
06275-31100X12 IR EMAL 100 12H7 31 |17 | 34| 4 13,8 218 x M6 x 40

© norelem www.norelem.com




06275_MFG f#HFHE , FTEEFW

06275-31125X12 IR EMAL 125 12H7 30 |18 |37 | 4 13,8 221 x M8 x 50
06275-31125X14 RN EMAL 125 14H7 30 |18 |37 | 5 16,3 221 x M8 x 50
06275-31140X14 IR EN A 140 14H7 34 119 (34| 5 16,3 221 x M8 x 50
06275-31140X15 IR EMAL 140 15H7 34 11934 | 5 17,3 221 x M8 x 50
06275-31160X15 IR EMAL 160 15H7 40 |20 |40 | 5 17,3 226 x M10 x 80
06275-31160X16 WIFERENMA 160 16H7 40 |20 40| 5 18,3 226 x M10 x 80
06275-31200X18 IR EMAL 200 18H7 50 |24 |46 | 6 20,8 226 x M10 x 80
06275-31200X20 IR EMN A 200 20H7 50 |24 |46 | 6 22,8 226 x M10 x 80
06275-31250X22 IR EMAL 250 22H7 50 |28 |49 | 6 24,8 228 x M12 x 90
06275-31250X24 IR EMAL 250 24H7 50 | 28 |49 | 8 27,3 228 x M12 x 90

© norelem www.norelem.com




